
��������� ����	
��

��� �
�


������ �
�
�� � ����� ��

������� �

����� ����� 	����� 
��� ��
���	��� 	 ���������� d �� ������������
 �����
 ������
���
������ �
���� ���
�� �����
� ����	� ����� ������	�	��� ���� ����� ��� d → 0�
� ���
 	����� ����� 	����� 	 ������������
 �����������! Ψnlm(r, θ, φ) = Rnl(r)Ylm(θ, φ)
���

��
 �� ������

������� �

"#����
$ < r > � < r2 > ��� ��������� 	 ������ 	����� ���
��
����� ��� 	 ������ |nlm >!

���� l = n − 1�

�	�
�� % ������� � ����&
 �� ���
�� ' 
��� #��#����� ���	������� 
��� ����#���� ��
���������� $	������ ������� � ������� 	
������� �� � �����(	�


